o(® ¢ (rad)

ooa,)cm)

Ratio

Ratio

H
S

a(d cot(B))

T
&
T

T
o
3
o
ey
S
N
T T T
e
S
o
%

IR

,-.,.

12|

—
Ratio

2
E\)
-
Iagie]

=

[0 W L L L

Rt it
| o T
':Iv 1 1 1 1 1 “'. 1
o 1 2 3 %72 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
LOWI" TUUUBV

testL o B 60evt
OR- testLoth 1000evt

-
1-
{OoRA: §§§§68W§‘%888§%‘

:REFE
i

EEEE

=

(0 d) (cm)

1074

T 7 e e e A SR I

— L

o
3
N

1.

i

ey

| oo
[ B L

I
(% aa pARRS RARS

1 2 3 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

107}

=
T[TTTT[rTTT
v

2 1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


